Makita Canada Inc.

Model GV6000 (MJ)

6" DISC SANDER

JTLLUCLLL

Regular Type

e

A07

51

WIRING DIAGRAM
Switch (4 Terminals)

01-2003



Item Part No. Iltem Part No.

No. No. Used Description No . No. Used Description

1 153119-5 1 Gear Complete 20 953106-2 2 Rivet 0-5

2 214004-8 1 Plane Bearing 6 21 410047-0 1 Hex Wrench Holder

3 * 1 Housing (R) 22 * 2 P.H. Screw M4X25 (Type 2)

4 211033-2 1 Ball Bearing 608LB 50 253951-8 1 Countersunk Washer 10

5 241803-5 1 Fan 58 51 265812-0 1 Hex Socket Head Screw M8x20

6 615116-4 1 Armature Assy (Includes 100 652008-6 4 P.H. Screw M3.5x7

ltems 4,5 & 9) 101 654037-5 4 Insulated Terminal FV1.25-M3

7 191956-9 2 Carbon Brush CB-75 (2pcs/Set)

8 643552-4 2 Brush Holder 5-8

9 211028-5 1 Ball Bearing 627LB Accessories
10 625101-9 1 Field Assy (With Item 19)
11 * 1 Housing (L) A01 743025-8 1 Plastic Pad (For Regular Abrasive Disc)
12 911138-5 * P.H. Screw M4x20 A02 743033-9 1 Pad 147 (For Pressure Sensitive
13 651232-8 1 Switch With Lock (4 Terminals) Abrasive Disc)

(Old 651225-5) AO3  ----- 1 6" Abrasive Disc (Regular Type)
14 931102-0 8 Hex Nut M4 (See Catalogue for Details)
15 911131-9 2 P.H. Screw M4x18 (With Washer) AO4 - 1 6" Sanding Disc (Pressure Sensitive
16 687002-9 1 Strain Relief Type) (See Catalogue for Details)
17 682502-4 1 Cord Guard 8-85 AO5 152491-2 1 Side Handle 36 (Type 3)
18 664013-1 1 Cord With Plug 2P-18-2.5 A06 783203-8 1 Hex Wrench 5 (For Plastic Pad Screw)
19 654038-3 2 Insulated Terminal FV1.25-M4 AO07 781017-9 1 Wrench 11 (For Spindle)
* SEE SERVICE CHANGES
SERVICE CHANGES

Type2 &3

Item No. Description Type 1 I Type 2 Type 3 Type 4
3 Housing (R) 411605-5 (Orange - No Longer Available) 411688-5 (Green)
- 182314-0 (Set)
11 Housing (L) 411604-7 (Orange - No 414824-2 (Orange) | 414841-2 (Green)
Longer Available)
12 P.H. Screw M4x20 911138-5
8 pieces 6 pieces
22 P.H.ScrewM4x25 [  ----- 911148-2 (M4X25) | 911138-5 (M4X20)
----- 2pcs
Serial No. ~ 30400 30401~ 91285E |  91286E -

Above parts are completely interchangeable as a set.

2 Model GV6000



